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TU VIVERE

TU VEDERE

VOI CADERE

LEI VIVERE

TU LEGGERE
VOI VIVERE

IO METTERE
VOI VEDERE
VOI METTERE
LEI METTERE

IO RIPETERE
LORO CADERE
LORO VIVERE
IO SCRIVERE
LEI PRENDERE
VOI CHIUDERE
LORO METTERE
LORO LEGGERE
LORO RICEVERE
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Il presente (-ere verbs)

L LAHS
TETTE
| WG H C
VBLGS
ONODE
DNEPS
Q EOV I
ONOCO
PI RNE
Q EOE M
DEDV I
EATLN
CVOEFTE
T 1 OVYV
DEL I |
CVMWYV
VIVIFP
SCR IV
L CEOM
SLEGSG
TU CADERE
10 VIVERE

|0 LEGGERE
TU PERDERE
NOI VIVERE
LEI VEDERE
|0 CREDERE

TU PRENDERE
TU SPENDERE
NOI METTERE
LEI CREDERE
LEI LEGGERE
VOI LEGGERE
VOI SCRIVERE
NOI SPENDERE
LORO CREDERE
LEI RICEVERE
LORO RIPETERE

m>» — 2 30— 00« M<K <<T<K<TUTVTHI T

44— TOTOP>POL —= MM —MmMmMNTM— M

m-auvwOoO0m«<wn>» 400-—-20TOAH0O0Z2

44 nz20»r <0 —-——206000-—-—IT0

mmOC®X—T1tm-H40z200zT11zZW0nao— —
O — 4000 0TVTIOITMmM=Z20OMmMMm«OU0OO0OCO
> T 0 —0WUVTOZUOU-—-OZZ—-—D0TOMOro=x
OX < muom-Em-—-—-OmMmr T>» << mMmOm
m-dmOocC-—-—-IOImm-=<<momr — X 7T

IO CADERE

IO VEDERE
NOI VEDERE
LEI CADERE
TU CREDERE
TU METTERE
IO PERDERE
LORO VEDERE
LEI PERDERE
IO CHIUDERE
IO RICEVERE
TU SCRIVERE
TU RIPETERE
NOI SCRIVERE
LEI CHIEDERE
LEI CHIUDERE
LEI SCRIVERE
TU RISPONDERE
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